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QUESTION 1

Which four are states that a device can be in throughout its lifecycle? 

A. Activated B. Decommissioned 

C. Disabled 

D. Saved 

E. Deactivated 

F. Registered 

Correct Answer: ABEF 

Reference: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/cloud-service-device-life-cycle.html 

 

QUESTION 2

Which three background colors are displayed for autocomplete in Process Cloud Service? 

A. Blue for complex binding names (their children may contain valid binding names) 

B. Red for invalid binding names 

C. Green for valid binding names 

D. Orange for unmatched binding names 

Correct Answer: ABC 

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/binding-form-datacontrols.html#GUID-
CECD2F13-1E1A-457D-8BC8-8D605EEB213B 

 

QUESTION 3

You receive a status code: 502 Proxy Error. 

Which is a possible event cause for this error? 

A. when the proxy setup is incorrect 

B. while registering a large number of devices using the Batch Registration feature under the Devices menu 

C. while adding proxy for an enterprise application device 

D. while the proxy server is not responding to the request 

Correct Answer: B 
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Reference: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/troubleshooting-management-consoleissues.html 

 

QUESTION 4

What two grants allow an API Manager to use a service in their API? 

A. Manage Service 

B. View All Details 

C. Deploy API 

D. Reference Service 

Correct Answer: BC 

Reference: https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/managing-apigrants.html#GUID-
DDDD0BCC-E609-4F71-8882-B19A039B4A11 

 

QUESTION 5

Which Enterprise Application System can be integrated with Oracle Internet of Things (IoT) Cloud Service? 

A. any system capable of receiving HTTP connection or making HTTP requests 

B. only systems which are deployed on Windows or Unix platform 

C. a system which exposes REST Service 

D. a system which exposes WSDL 

Correct Answer: C 

Reference: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/developing-applications-oracle-internetthings-cloud-
service.pdf 

 

QUESTION 6

Which two statements are true about Internet of Things (IoT)? 

A. Different IOT approaches need to be established integrate different technologies such as mobile, cloud, big data, and
analytics, and connects everyday objects to each other and to the Internet. 

B. Cloud technology is well suited to enable IoT, offering high degrees of agility, low and flexible costs, and excellent
resource utilization. 

C. Using IoT, hospitality-based businesses can better track customer behavior and preferences to deliver rewards and
more tailored services that differentiate their businesses. 

D. IOT is not useful in asset tracking scenarios because there is an unavailability of low-cost connected devices and
sensors that can be embedded into all of the various assets that need tracking. 
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Correct Answer: AB 

Reference: https://www.oracle.com/assets/oracle-iot-solution-brief-2632911-es.pdf 

 

QUESTION 7

What fields are used to define static or dynamic list of values in web forms in Process Cloud Service? 

A. Links, Email and Message Fields 

B. Checklists, Radio button or Select controls 

C. Date, Time and Number Fields 

D. Text Input and Area Fields 

Correct Answer: B 

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/configuring-
advancedcontrols.html#GUID-0A790FE5-AF8A-496D-A7C5-6C4203915B7C 

 

QUESTION 8

Which two are execution modes supported by gateway node in Integration API Platform Cloud Service? 

A. Production 

B. Development 

C. Stage 

D. Test 

Correct Answer: AB 

Reference: https://docs.oracle.com/en/cloud/paas/api-platform-cloud/apfad/installing-gatewaynode.html#GUID-
A02059C9-37B4-40F0-9FEA-C648804BB98F 

 

QUESTION 9

Which three Service-Oriented Architecture Cloud Service (SOA CS) Components can route a message to an end
point? 

A. Oracle Mediator 

B. Oracle Business Rules 

C. Oracle BPEL Process Manager 

D. Oracle Service Bus 
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Correct Answer: ABC 

 

QUESTION 10

Assuming that a particular user possesses the "Deploy to Gateway" grant, what grants on an API are required in order
to deploy that API? 

A. Manage API or Deploy API 

B. Manage API 

C. Entitle API 

D. View all Details and Deploy API 

Correct Answer: A 

Reference: https://community.oracle.com/community/oracle-cloud/oracle-cloud-developer-solutions/blog 

 

QUESTION 11

Which three are characteristics of Device Virtualization? 

A. Oracle Internet of Things (IoT) Cloud Service does not support Device Virtualization. 

B. You can monitor each device endpoint\\'s health, performance, and location via the client software library API, or with
REST calls made to those devices. 

C. You can collect data from your devices using APIs delivered with Oracle Internet of Things (IoT) Cloud Service Client
Software Libraries or Oracle IoT Cloud Service Gateway. 

D. The APIs provided enable you to send telemetry messages and device data from your devices to Oracle Internet of
Things (IoT) Cloud Service, control your devices, and deploy applications to your gateway devices. 

E. Devices used are not real. They are virtual devices and linked with Oracle Internet of Things (IoT) CS. 

Correct Answer: BCD 

Reference: http://www.otechtalks.tv/an-introduction-to-oracle-internet-of-things/ 

 

QUESTION 12

Which built-in API platform policy lets you manipulate the request context? 

A. Application rate Limiting Policy 

B. Key Validation Policy 

C. Redaction Policy 

D. Groovy Script Policy 
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Correct Answer: D 

Reference: https://docs.oracle.com/cd/E83857_01/paas/api-platform-cloud/apfad/using-oracle-apiplatform-cloud-
service.pdf (224) 

 

QUESTION 13

You provision an Oracle SOA Cloud Service instance and specify a compute shape so that the JVM heap size for
WebLogic Server and Load Balancer processes are determined automatically. 

Which statement is correct after provisioning the instance in this scenario? 

A. You can change the heap size to a maximum of 32GB. 

B. You can change the heap size by logging an Oracle Cloud Support Service Request. 

C. You can change the heap size by using the Weblogic Server Administration Console. 

D. You cannot change the heap size once the Service Instance is provisioned. 

Correct Answer: C 

Reference: https://docs.oracle.com/cloud-machine/latest/soacs_gs/CSBCS/GUID-
FC8FB9F1-99D4-434E8825-3D368850A37A.htm#CSBCS-GUID-FC8FB9F1-99D4-434E-8825-3D368850A37A 

 

QUESTION 14

Which is/are required prerequisite(s) for API Platform Cloud Services? 

A. Storage Cloud Service and Compute Cloud Service 

B. Integration Cloud Service 

C. Database Cloud Service (DBCS) and Storage Cloud Service 

D. Java Cloud Service (JCS) and Database Cloud Service (DBCS) 

Correct Answer: ABD 

 

QUESTION 15

Which two are ways Business Rules can be modeled in Process Cloud Service (PCS)? 

A. using Oracle Business Rules Editor 

B. using OIC Rule Editor 

C. using BPM Rule Editor 

D. using Decision Model Editor 
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Correct Answer: AD 

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/creating-business-rules.html 
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